


Module 2.1 – Answer to Exercise 2











		Justification of assessment of importance and difficulty for the tasks 2.1 to 2.9 on Form 3:





Task 2.1	Important because failure to do this:





	(a)  will decrease life of batteries which, in the long run, will cost a considerable amount of money;





	(b)  might shorten the time the battery can compensate for the unlikely event of failure of both main and standby generators.





	Difficult because it involves several measurements which people may fail to perform correctly.








Task 2.2	Very important because if the remote control does not function correctly, the standby generator may not start in case of power failure.  The conse-quences of this may be total breakdown of the switching centre if the batteries discharge before power is restored.  Likelihood of power failure is great (every second week, 3 hours average) and loss of a centre in the capital may imply tourist dissatisfaction (and loss of telephone charges).





	Difficult because it requires measurements which people may not perform correctly.








Task 2.3	Important for the same reason as Task 2.1





	Difficult, somewhat less complicated than 2.2, but still several measure-ments to perform correctly.








Task 2.4	Low importance because nothing very serious is likely to happen even if the generator is dirty, as long as everything else is checked.





	Low Difficulty because this is an easy routine task which anyone can perform (but not necessarily likes to do); so perhaps feedback/supervision is sufficient.








Task 2.5	Very important because failure to do this increases the likelihood that the standby generator does not start in case of power failure.  If the batteries discharge before power is restored, this would mean breakdown of the switching centre with the consequences described in Task 2.2





Task 2.6	Important because failure to do this may cause bad connections, and therefore bad functioning of the batteries.  It may also reduce the life of the batteries.





	Low difficulty:  see the justification given for Task 2.4








Task 2.7	Important because failure to do this may cause bad functioning of the standby generator and perhaps eventually a breakdown.  Failures will, in most cases, be discovered during the running test which means that Task 2.7 is somewhat less critical than Task 2.5





	Difficult because it requires the capability to judge the quality of components.








Task 2.8	Very important for the same reasons given for Task 2.2





	Low difficulty because only simple measurements or visual inspection is required.








Task 2.9	Important for the same reason as given for Task 2.1





	Difficult because many measurements are required.
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